[ Efficiency vs vertpos |
1.2

P U O o VN SO

LN S —
oo

02f o

etticiency vs vert r
)
-
f*
§

it 11

OAQ‘:
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_mkFit_TT_baseR3_noSel_ok

Effici —e— DQM_mKFit_TT_base_8iter_noSel_ok
ICIeNd __,__ DQM_mkFit_TT_Retrainv2_8iter_noSel_ok

N 1.2

efticiency vs vert

e e S e |

Ratio

20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
1.2

1_.._..... ...... ....... .....

efficiency vs Sim. PV z

s o

e S S N S

o) I PR PP PP P P I

H+++++++++++

i

50 56510 1520
Sim. PV z (cm)

Ratio

+




	Contents
	Page 1


